
 
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 

 

 
 
 

 
 
 
  
 
 
 
 
 
  
 
 
 
 
 
 

 

50+50 

 

 64+64 
 

 

3300  ++  3311  6677  ++  6655  

223377++  223355  

229977  ++  229955  

 

 
 

 

 
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 

 

 
 
 

 
 
 
  
 
 
 
 
 
  
 
 
 
 
 
 

 

50+50 

 

 64+64 
 

 

3300  ++  3311  6677  ++  6655  

223377++  223355  

229977  ++  229955  

 

 
 

 

 
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 

 

 
 
 

 
 
 
  
 
 
 
 
 
  
 
 
 
 
 
 

 

50+50 

 

 64+64 
 

 

3300  ++  3311  6677  ++  6655  

223377++  223355  

229977  ++  229955  

 

 
 

 

 
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 

 

 
 
 

 
 
 
  
 
 
 
 
 
  
 
 
 
 
 
 

 

50+50 

 

 64+64 
 

 

3300  ++  3311  6677  ++  6655  

223377++  223355  

229977  ++  229955  

 

 
 

 

 

 

 

 

 

 

 

 

 

 

  

 

  

 

  

  

            225555  ++  77    
      ==  225555  ++  ((55  ++  22))  
      ==  226622  

 

Bridge the 
decuple 

      6688  ++  55    
==  6688  ++  ((22  ++  33))  
==  7733  

++1100  

3377        4477              5577                    6622  

++1100  
++55  

Partition 
through the 
decuple 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

  

 

  

  

            225555  ++  77    
      ==  225555  ++  ((55  ++  22))  
      ==  226622  

 

Bridge the 
decuple 

      6688  ++  55    
==  6688  ++  ((22  ++  33))  
==  7733  

++1100  

3377        4477              5577                    6622  

++1100  
++55  

Partition 
through the 
decuple 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

  

 

  

  

            225555  ++  77    
      ==  225555  ++  ((55  ++  22))  
      ==  226622  

 

Bridge the 
decuple 

      6688  ++  55    
==  6688  ++  ((22  ++  33))  
==  7733  

++1100  

3377        4477              5577                    6622  

++1100  
++55  

Partition 
through the 
decuple 

 

 

 

 

 

 

 

 

 

 

 

 

 

  

 

  

 

  

  

            225555  ++  77    
      ==  225555  ++  ((55  ++  22))  
      ==  226622  

 

Bridge the 
decuple 

      6688  ++  55    
==  6688  ++  ((22  ++  33))  
==  7733  

++1100  

3377        4477              5577                    6622  

++1100  
++55  

Partition 
through the 
decuple 

 

 

 

 

 

 

 

 
 

 

 

  

49 ? 

 

87 

 

 

 

 

 

 
 

 

 

  

49 ? 

 

87 

 

 

 

 

 

 
 

 

 

  

49 ? 

 

87 

 

 

 

 

 

 
 

 

 

  

49 ? 

 

87 

 



 

 

 

 

 

 

 

 

 

 

  

 

  

 

  

  

            225555  ++  77    
      ==  225555  ++  ((55  ++  22))  
      ==  226622  

 

Bridge the 
decuple 

      6688  ++  55    
==  6688  ++  ((22  ++  33))  
==  7733  

++1100  

3377        4477              5577                    6622  

++1100  
++55  

Partition 
through the 
decuple 

 

 

 



 
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 

 

 
 
 

 
 
 
  
 
 
 
 
 
  
 
 
 
 
 
 

 

50+50 

 

 64+64 
 

 

3300  ++  3311  6677  ++  6655  

223377++  223355  

229977  ++  229955  

 

 
 

 



 
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 

 

 
 
 

 
 
 
  
 
 
 
 
 
  
 
 
 
 
 
 

 

50+50 

 

 64+64 
 

 

3300  ++  3311  6677  ++  6655  

223377++  223355  

229977  ++  229955  

 

 
 

 



 
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 

 

 
 
 

 
 
 
  
 
 
 
 
 
  
 
 
 
 
 
 

 

50+50 

 

 64+64 
 

 

3300  ++  3311  6677  ++  6655  

223377++  223355  

229977  ++  229955  

 

 
 

 



 

 

 

 

 

 

 

 

 

 

  

 

  

 

  

  

            225555  ++  77    
      ==  225555  ++  ((55  ++  22))  
      ==  226622  

 

Bridge the 
decuple 

      6688  ++  55    
==  6688  ++  ((22  ++  33))  
==  7733  

++1100  

3377        4477              5577                    6622  

++1100  
++55  

Partition 
through the 
decuple 

 

 

 



 
 

 

 
 
 
 
 
 
 
 
 
 
 
 
 

 

 
 
 

 
 
 
  
 
 
 
 
 
  
 
 
 
 
 
 

 

50+50 

 

 64+64 
 

 

3300  ++  3311  6677  ++  6655  

223377++  223355  

229977  ++  229955  

 

 
 

 



 

 

 

 

 

 

 

 

 

 

  

 

  

 

  

  

            225555  ++  77    
      ==  225555  ++  ((55  ++  22))  
      ==  226622  

 

Bridge the 
decuple 

      6688  ++  55    
==  6688  ++  ((22  ++  33))  
==  7733  

++1100  

3377        4477              5577                    6622  

++1100  
++55  

Partition 
through the 
decuple 

 

 

 



 

 

 

 

 

 

 

 

 

 

  

 

  

 

  

  

            225555  ++  77    
      ==  225555  ++  ((55  ++  22))  
      ==  226622  

 

Bridge the 
decuple 

      6688  ++  55    
==  6688  ++  ((22  ++  33))  
==  7733  

++1100  

3377        4477              5577                    6622  

++1100  
++55  

Partition 
through the 
decuple 

 

 

 



 

 

 

 

 
 

 

 

  

49 ? 

 

87 

 



 

 

 

 

 
 

 

 

  

49 ? 

 

87 

 



 

 

 

 

 
 

 

 

  

49 ? 

 

87 

 



 

 

 

 

 
 

 

 

  

49 ? 

 

87 

 


	315d35b35e66549fb061e2c8197335ed0f01730ad584223121ddc87199d6d4fe.pdf
	ca110df64a190389ed6e99bc7c6a4a403bb7fba4afe2188a57c73cba77ed636b.pdf

